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Answer to this paper must be written on the papeeprovided separately'

You will not be allowed t6 write during the first l5 minutes.

This time is to be spent in reading the question paper'

Tlte tinte given at the hescl of'this paper is t!rc tinrc allowedforwritirtg the answers

This pape:t' i.{ititcrises nyo sections - sectionA and section B

.litarnltt *ll the qut:s!!L;ns ftorn Section A.

renrytt an4t foar questii;;ts .fioin ,ieciitsit .fr, r;nsti'erin{ at ieast ott€ gtaestion each from two

books 3'Qu hTt,e stur{ieti cnd uftY- twa oflter questions.

The intencled marks.for questions or parts aj:questions are given in brackets [J.

$ection A {40 marks)
Attempt alt rJuestions

{ . } i rest ion I

ite . short composition in Hincli of approximately 250 words on any one ofthe following

ir , l r ics:-

f . rrqf. fu6 M q € ffi qran Asq q{ cTr{{i 2s0 sfdi d q.RYq d-s frfuq -

(i) i?ifi irrm.FI efq fifrq r* gRr-iqi . €R € vfra St

i ii r .i31; * 4"66 -5i giffif?fi .ct r.i1;-ili:ic; i?arl.r €tdT ts aeiT 31-is cn-a{ A enffio ft-di-{T

d Tfra- .ft-Ft' E T qid14l trun "t';pgl:l ;j[r dca];fi r{ffi T1T Tim€T 9IRql

(iii) .ffi{1-q-€Tr (Teenage) +T ;i**ri i;"s r*i.},Pl' fiiivq *; r.l.'ir qi niti-e{ d frffi q-6 qq 3ild

ft-anfrfuqr
( ii ;,ftg4J-s S E-.gi 

"rfqii 
t rrs frtar.$ znF f i TTq 6I - !Rr{i tr{, F T qt, qT s{qi

Grmrs qq, - g,€ qra"*}eiRiarw os$ gq GTrA iikm oI .htg el3.|q frfuqr
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(v) +A frfS qET-crd q1 emnq {ETcF{ \rcF q}Rs q-6rft frfu\ -

"q6 q6ffi gt eraTq dl riEr tnv tfr tr" $ :

Question 2

Write a letter in Hindi in approximately 120 words on any one of the topics given below :-

ffifua q t frffi \q frq-q w F€ r'; 6rp1q 120 pr6d fr qa frfuq -

€rt+q 3f*qcllcT * 5w 3Tffi -+) q* ftris-.nq RieFI{rd'6rfuq ft zF-€ sTtr{ rmq
q{;TS sn-St ffiqg dl frdE 5q-t qQ-.t'r q{ irqffl itq.ffi tt s* Err46rq q

qr;rcff,r ol ge ari or ftaffi fifuq t

3rrq$ qrar iqar q) frffi awurer$ Gilq+ sfr rradrr-sir A .T$ rir r ssor 6mq qilla

gq sTqi fr--dT 6\ q-r frfuq eltq enft af{Fr{ q rl€ "fr ZE fM fr d vn6 fi aq

elq|.frRgr

Question 3
Read the passage given below and answer in l{indi the questions that follc"'r'. using your o\\'n

n,ords as lar as possible :-

ffifua TiTipT si ril-q * Gq slp irs* fi" tr1-$ qsqt * G"-{ fi-t'} d frifuq t wq -=:?rr

\qqq GTrq+ 3rcri pT-d q di atFg 
'-

d-di cft}qr q€irT Qrr cfr{ Rrdr* fr zrro t-s e}-ft S, qgsrrni fr tT6 fi q-d-&

'.f,r& frt ot€ TfaT arr, dr$ Sq qr.rei srT, o.l$ cTu*i d-ft * TA frqeT iildT Qnt 6ig 3rwi EIw

+ gF d 9re9 illq *ai snt

.rSS aTeTTcRrl d gS* ef,T, '6qld =rqrtftr-e-i e\ zr$ JilcFq \.n d."{.{ *rqa S qrd d t

snrq € wrer q-S fi 6qr Gilf{;rw ?F{fr pftl Cqq fi qlilq q-€i {fi-a ar& $i eirgru ir

+ fr\ ?16 Ta qrA a) ft a fiA t zn q-€ i.} .rl q SA F, =T q-€ tt

eilq 16'ffi erq +e srq fi q-G +il6{ gfroi a € $t ln-e-fr m g_q-Et .iR Gq g€

sr eH frtri q-rq S qfr tr {ft S-da fi-a S Br
wq-c lsFnq qtn i qfr g€ ytr fr tnl qrrFi sdrcn'r q'6 fiigtft d A frqT, dt rssi gqfr

Gn{ TS GfrEE} + e-s r6t ?rT; Gil{ t{6 ril-{q, 3tr.tq efq .i."*{,.w. qT Grqi fiil{ d q-sdr

BIT 3r31Tq frql

I7l
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Sqq66r - dw,{g.qEgi etq GfiSfrq'h,T et i.Simfi arn*t,'q.sn} rrq.r€, *r'rq.lRT

$Tpi-qie rr$ crqar qg=hnl qlq-?tE t} 3nq?f,Ji-.1nl , t#i 'ri-fr q'=r,€ * '\t ti

r1rlq i Bq 3T1*fstr{ fr ew *c+a;q qET - a-d ryo GT'qfl 
".Tdl , 

tge fr RIfr ari-'t r

*K€-.sT d.rqT gir ff scdrcI A a-gd q i-{dT gw drar d t"a, t.4D {.il\^tt

ftffi qil qqrqT q$r q€ q€ Eqrft ffi fi q-d-€ qS araqT Tft ov €t q-6 a Se airq-fr

d zrqr d q1; q13 biT s;(t, C rffi ql zH ET?n € qca t, eilq er,ri qq 
"fi $ri * ftrq

riTT;F;t t, G+{ qffiid u-a aGT-A tsl

',i-G -rFkir 
6r 16 w gva fr u+a .rurt eiRrgf,T;Id fr utRq-d tt gqq cY{ F-{Terl znt eFT

qTrrq d-dT - q-q-q qfdl, m i ftr.oft fr egr ges rini t fr-aqT qlg -€lf,,mq q-ftt

ag effi q{ 61zl T€q-{ rti.-lqr, ff qlg'rltlcn{l

frqi qq-flqT eqt tar-S d-er, gvr Fi ftI trF {ilqr;1rcry € 5q-d d r€, G-$r.{ * ue

ry€r e-.S rrriqctFI pft, s) gdff .=-dT qrqT-rie .} q--.r rits R'qi

(i) qgalrdT '* ei-crq-quT qr qui-q fiRrq t 12 |

(ii) qr.{ +a zn--d }.e $ mn qqr qr qS e} f Pl

(iii) qTtfq i ftl=rft ol cfl kqT ? irs q{ fr{sft fr eqT sfrEqT aft ? I2l

(iv) #iffi ili q qq e|-e 4.i € P) ? l2l

(v) Sqi 3Tqi ga o'r TrIIoFfi-{ eft-{ur +nqT ? eqflo-s frfuql I2l

Question 4

Answer the following according to the instructions given :-

ffitud es+i d wr fr-errs+{Ti fefuq -

(i) fia ftl-d aT-C A R€ S 3r$ ftRlqr (.fid d)

Gffie, ti;o, 3TR'rgilr, -slffrrrf

(ii) +a ftl-€ prd S fiq-Q-drefd sq fAfstqt (nt€ e])

+1s, gedffi., 5ff, 3IT{IqT;l

(iii) fta frl-d Pr_<) * qqffierq frtu\t

frgffi ,3TT;i4'
r /iS

l l l

l l l
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fh,e w a ft y.: {r1i*^"t e . C0,.n

(iv) fiqfrfud gFrqfr $r $rrE qr,r$f { wiri d}it.irll
(i) rua q qmnr, (ii) qi\:'iT Frritiii

(v) qte-cn fr ftq qq R-&rrgHI E "rrq.qt *t qi-t.rd=r .&bq _

I l  I

I4l
(i) gE *{ fi frq ?l-6 Ta iilie a) fr r) S-A H qT rr{S I r

(d . . t qr-w 6r rRi?T fifuur)
(ii) qrq-Aa erq rft rrG A-tqN gfuilf d € glr

(erv-td arsr-t arcruror rRhr frfuqr)
(iii) q€-q-€ Eqrft fuqft fr sd-S $.$ araqT gft oq .€r

(irtri . .. . € atcrcr or ymi frfuqrl
(iv) il6 Gffi q{ FpJ tsqi{ {|i afi, fu,qrq-qTwr

(qgw qFruq q-qRq)

Section B t4(} naarks)
Attentpt any.fbur qu€.r.tintl,r l;v;tt iitection B.

You must answer at lea,st one qw:stir;rt eur:rt.iir;nt iwo b,tsk,y
anC arcj, t'rtto s1l?.., 4itr:.ySyu,r;.

.vou hctve studied

?Den q{sr

Question 5

Itead the extract given below and answer in Hindi the questions that follow :-
ffifuH 1riliaT tbl qGq efr{ swfi fid frl-q} qr.tf t sr-rq fffi fr I-, aR_qa -

iv wqrq s;rmq z1-6 3E \relrl-qr eT .T?Trr glqMf s qrrr s{ri T6 qN *n $-s ai
Grlq Rrq €fu t *qqT; frq "!r.{rq Er{q[si', 6F-.5v qEqrs * qrsq f]o-a qqTt

/TfierrreT ffi{
( r l

( i i )

( i i i )

(iv)

Ag6 ql qqT GctTq ?dt Gfr{-qxl f&rri arT ?

d-{g-6 * rnqrq 6I rc$.f,ru E-{T Glfi.t ,:iS1 ? ct6 cfirlfi,e1 r:)el ?
3ilrEo. i As-+' o}fr-qT q?q-* G_r{r;6 T{f-rrf ? qqgirgqi

, tzl

12l

t3l

13l

07-08

6-srft S ernm q-s qpqa-su-6 q{ q6-rqT-gifrr.r
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Question 6

Read the extract given below and answer in Hindithe questions that 1'olloiv :-

ffifuq r€rpr q] qGq Gir \rs6 fra frl-€ errt * snr m q Rfuq -
€fqr srf , E-d e6Tf, S qorq dFF{ qq q*-}, q-{ Td qrg| frq *q eq|a d oz u]lET L-

(i) As-m i qqT li)"T atT ? qi*d sfrq -.rqT ?
(ii) d-{s-6 g{T sERr od q-{ F ? sscr ft:r- *fr $H qsr t ?
(iii) d-qg-6 + fr-t i.t-<so .n) qi.fi-qeF:i +ri'l' .'rFr g1l s*q q-q ?

(iv) q-drfr d rfepT e}we fifuqr

Question 7

Rcad the extract given bclow and answer in Hindi thc qrrestions that 1'olloiv :-

ffifue rilrpTql qGq 3n{ss*+4ft€ esqT+gt\ fHd fafuq _

qsn/ geft iqz-q

tzl
12l

t3l

I3 l

qTUr rrg + frq qna{ q[iE 6] s-fr-d ggn, \ft a Ezi frqtuT d .K €, sq* €<.;, -

*W 3rJ.IRqselo-sg6erTFBqqqrc tt qrg GT?t .ilqrg{qrf,{iq'figuq-$ e.{i
- - - - -4, , \  n r \ , , , \  - - - -* \ ' )13icht t.{tc1 li.r-Ftr c6-dts ?

qF[tr' !rrS.T/ q,trrJqil ftil.rorq

(i) qTur lN + frq qrueq llT6q dr ti{T rfu.Wil 3r\{ ?Fq ? I2l
(ii) frrdf or r4q+f we *fuq ? r:-wb ftl qxer: rTrdB t eqi tra-dq frqT ? pl

(iii) st-s{qr{qorahb fu:,riz.*fuqr I3l
(iv) lrqga .n'2lT q A-sq i fu-{T E.-'lT .n} faF-;;r ldql * ? *;ed,r a{RIq .nTTfiffi fItr

t3 l

qorffgrrn

Qncstion 8.

Read the extract given below and answer in Hindi the questions that follorv :-

fffiRln reripT q] qGq Gfir sqrh +A frqi es+f 6 srrq ffi n' ldfeq -
irq fi S gu E-fr TS €rqT 

"If,AI 
g€ zGv gET 3TroraT, sq gdT GTtc5fsr ?FF

q-S e ? gw-sw sq Gr}q gaT eTr-orsr M tar B gqfr( Sq q-S fr qrn-{sdT t w,iln,
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d 3ilq Br qq fi Grlq qT'ra e) ! orSt g.it -*iq-gi 6l A€i qft t , *ff eN. fi cq|{ o) qqgi fi i

gr ail,r qn fi 6m-fl-{ e} E}-fl qr6-e e} w HTsqT fi =rSt q'1ilsr t-{s} , cqr otc--qr{ 3rfrR1ii

drfr t z C qn oirn-gaqTqqr-trql q-6 gt oru w anB'n qS I
rye6"T / Aa 1drft

(i) a.mr 4irdT q) efl qH + frq q-6 €r t 3il{ zrq} ? Izl

(ii) qnq€Er-s$r{zb}frisrrnqqTh-do-{et? l2l

(iii) qq S Eeg q sTT-dT 6T qzr fr-.n{ t ? €rr +} woei \rq q<r *;q -di S fr-q-Bq qtr i;

fr srqsq+rr d-frt 2 Grcrifr-ar-x'tBqt

(iv) q-6r-Sr d stFJ q{ ecnlel siftfgt

Quest ion 9

Read the extract given belor,v and answer in Hindi the questierrrs that 1'ollnrv :-

ffifua rsipr oi qGq Gilq sfld .i-A frl-€ es+ S gnR F{T q fulsq -

r{ qEor-q fi q-fl d,r qcT fr qHT qFiT q{6N qr q-d e

t3t

13l

qcrcrr or €ftlq qftaq' €fug t

'q!znr{ e*q s-sl \'6 ESt * T-to t' - N ? we Cfuql

'qgr fr qgn gq;Ii q*FR qr qlt' tt'- E-g' cb2l'q fr q.q-cr qq !=frlgl'grdqi

I3 l

(iv) srl-dT + GTfapr qI zb'Rrry t1fl"B ? gq illft{iq qq -sf,chT =1p7 i}*ur 6frql l3j

Question 10

Rcad the extract given below and answer in Hindi tl-re questions that lbllou' :-

ffifunrr€riaTC qGq 3f-{in$+AfrR} ssiT* sn{mn'frfuq -

cErT GTTrr eil,T +ft qt:d r8 M ? qqr GTrqC gs q{ 3m fr-ut 1M =r& tat'

ylr-&, prr&, Qrr&t qqi enft fr gftqT fr sq $] t!
\ : 

asft ?FI trrrttT / gftf{Iar rs[$F'

(i) qcmrqtqt? ssfiqqrRi;Rq{e?FfslsTf.{ql l2l

( i )

(  i i )

( i i i )

lftff frer / ftY rrnqq

l2l

12l

\



'yil-A' 6r rieli aqT 3TrqT t ? 121

sr& aT S"rq fr q-f,f, qq-sri Eq GTrq + riq{ q 5s-b sgq C we frfuqr

13t

13l

,e\ I

ffirat 
"xlr=FF'I

i l ,  ,:stion l l

,i; ,d the extract given below and answer in l{indi the questions that follow :-

hF {kfua qErieT dr qGq Gtq s-€f* fi-A ft€ esS *Gnr Ffi q frfuq -

gq .il e Eu ag, {q,i-fr $s4, wnc{ f imf fr en-+-qt

trvl ffir qlg TR {, q-;q Eq d $-{q q?Fql

gr'fu-w+r sd-3rfl Tgtrznq, ar3 gq a6q ffi sst

. aq €d i;q e .,r dr,l, ts-€-6l, B ffi fi derqt

sasr*q i trqqfurffi

'gq d B frq dg' fr oft qr aoT eTd{d t ? tnB eqr 66 Tdr B ? I2l

'gpT-frt,frilbr' fu.fr 3l]-? Erq} 4d lR:tT 5 l Eqtg; +ftGqt I2l

e,fr 'fi=d qri ?lpicr' ?Frffiq flq "rlTrT ,"r r;ltIn qnq{i ardele i'] qtr:flr6-{ vtr f,fuq t

(iv) e-{Sa zDgF{ d'siltrm w TcFifi * qtd-6 * efifurq q{ 9-*.rgr <hFTv

, iv) 6fr-al q 6fr i 19 6T qq ;T qrqi -'i=,'9-{'4i diA t ?

Qr,est ion 12

ii, ,d the extract given belorv and ansr,ver in Hindi the questions that follow :-

; liiTfud qilrfl Cf qGq 3*q g-s-il +a ftru !a-nT S wr Ffr q frfuq -

W ilut alFor, q;I6T snqr qf$t

3rLlfl flq PtCr.{ q-t, 3*{q d gu dgtt

4r$ gsfr q€, Irr d-* a-+ *f-t I

ES qe-qe RTq t, gFrf i.r* =n@t i

l3 l

13l

!

i
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6Rvr rrltr q dfug, ora "rB oR iml
q rrr* nn qRF. TqT q{ aql qE{gtt t

+R+dt/qfftrtrn
ffi qrffrit_ai fieaiefiG * Gfrqtrofr ?
oT(3[' rh] sTeJ ror ts ? ggmr riq+i w'e 6fuqt
qRqT fr* q-S *!s qrft B G*t q{i'? we *trqr

rir,) tnft-{fls S or qRtK qR-+:+ toe sEfr RS"T ft-ttrJtTF{r q{ ecFTsI elfrqt

Quest ion l3

Read the extract given below and ansrver in Hindi the questions that follow :-

ffifuH qiliglq] qBq GlNss*ftAftl-GR-li$wqffiqfrfuq -

qEryIR 
"TRq, 

rsfr'5fr * ?r&,
ePt-SeT q*q e E-ff g€ wq q$r

. fr-$-g{fE gd ql eql-Httr6 S erer,

y{ld atcn q.f Tw;T wtqi Ror vgrr

3ET! irs s{rq ts q-d.mn-$ .Ft,

a&qwefrd-T:qqtftq' '* i
rfl"Frtrr I +ftr$erwr $a

'q"6Il?{F' qT sei *nv eeieq ren e-era-{R hl qFIEiffr qS q-er rqr t ? l2l

( i )

( l l )

( i i i )

I2l

I2l

13l

13l

r )

r i i ;

( i i i )

(iv)

'frw€lqrq g€ 6i qqT-]rqrd q'qrl"' q[ qrqrrydftqt

fr* s-<rq q-6r rpl-r t ei-{ N ?
qfrarolTa"wqwEfifuql

lzl
l3l

t3t

v

\l
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